| Efficiency vs Dxy |
> 05

dx

S
©
I
)]
[

......................................................................

o
N
|

e e T e e

efficiency v

o
[
[

ol
02ttt
1JGL:] SRS SRR SRS ORI | RSO ROt
VSRR TSI SO | SRS S
0J01:] SRR SRS SRS MRS IS Nt

510 15 20
TP dxy (cm)

—=— DQM _original_step?2_ttbar-phasel-newgeom
| Efficiency vs Dz | —e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom

0.5 —— DQM_pixelCPETemplateCutChiSquareNew6_step2_ttbar-phasel-newgeom

VP SN | N S S —

dz

a‘ E : : : : :
§ OAf

(8] r : : : . .
£ 0.35 AR Frorreneenes frorereees A

o - : : : :
A S S S S
e s s s s s
L R RN | S . v —
O
O

+
1 x| |4

Ratio

=¥ |-

LR R R R T 2 F A S T SRR T O R E TP T

L] SRR IS0 A1 SO, —

30 20 <10 0 10 20 30
TP dz (cm)



	Contents
	Page 1


